## BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

**EXAMINATION DEPARTMENT** 

Reference: EXAM / JPP / BITIC / PATNA / BE-EC-NONCOLLEGIATE / (NC/19) 2019-2020

By the order of Examination committee, the following is the result of BE-EC - NONCOLLEGIATE Semester held in the month of AUG-2019 Date: SEPT-2019

SESSION: 2019-2020 CLASS: BE-EC BRANCH: ENGINEERING								;	SEMES1	ER/TF	RIMEST	ER : N	IONCOLL	EGIATI	E	M	ONTH OF EXA	M : A	JG-2019			
ROLL NO	NAME		CH14	` '	CH2203(3) PH1201(4)		EC5205(3) EC2001(3)		EC6201(3) EC4201(3)			EC6203(3) EC4205(3)		EC7201(3)		MEC1047(3) -		201(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/15033/15	SANGAM KLIMADI	U	-	-	-	-	-	-	-	-			-	-	-	-	-		15.0	3.0	5.00	
BE/ 15033/15	SANGAM KUMARI	L	-	-	-	-	-	-	С	15.0	-	-	-	-	-	-	-	<u> </u>				
BE/15057/15	SHIVANSHU	U	-	-	-	-	С	15.0	-	-	-	-	-	-	-	-	-	_	80.0	16.0	5.00	
BE/ 1303//13	E/1505//15   SHIVANSHU	L	-	-	С	20.0	С	15.0	С	15.0	С	15.0	-	-	-	-	-	<u> </u> -	80.0	10.0	5.00	-
BE/15122/15	ARVIND KUMAR	U	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	00.0	28.0	0.00	-
BE/13122/15	ARVIND ROWAR	L	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	20.0	0.00	

CH1401(3) : ENGINEERING CHEMISTRY EC6205(3) : COMPUTER NETWORKING

CH2203(3) : ENVIRONMENTAL SCIENCE PH1201(4) : PHYSICS

EC5205(3) : DATA COMMUNICATION EC2001(3) : PRINCIPLES OF ELECTRONICS ENGINEERING EC6201(3) : INTELLIGENT INSTRUMENTATION EC4201(3) : VLSI DESIGN EC6203(3) : FIBER OPTICS COMMUNICATION SYSTEM EC4205(3) : MICROPROCESSOR AND MICROCONTROLLER

EC6203(3) : FIBER OPTICS COMMUNICATION SYSTEM EC4205(3)
EC7201(3) : `MOBILE AND CELLULAR COMMUNICATION -

 MEC1047(3)
 : SENSORS AND TRANSDUCERS
 :

 EC3201(4)
 : DIGITAL ELECTRONICS
 :

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original

Controller of Examinations

Grade card will be issued by the institute in due time.

## BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

**EXAMINATION DEPARTMENT** 

Reference: EXAM / JPP / BITIC / PATNA / BE-EC-NONCOLLEGIATE / (NC/19) 2019-2020

By the order of Examination committee, the following is the result of BE-EC - NONCOLLEGIATE Semester held in the month of AUG-2019 Date: SEPT-2019

SESSION	: 2019-2020 CLASS : BE-E	0		BRANC	H : E	NGINEE	RING				SEI	MESTER	R/TRIN	1ESTER	: N	ONCOLL	EGIAT	E	MC	ONTH OF EXA	.M : A	UG-2019
ROLL NO	NAME		EC20 MEC1	` '	MA2201(4) EC6205(3)		EC3205(3) CH2203(3)		EC4205(3) EC3203(3)		EC5203(3) EC4201(3)		EC6203(3) BT3021(3)		EE6201(3) EC4207(3)		EC7201(3) CH1401(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/15196/15	NEEL SUMAN RAJ	U	С	15.0	С	20.0	С	15.0	С	15.0	С	15.0	С	15.0	С	15.0	С	15.0	140.0	28.0	5.00	
BE/13190/13		L	С	15.0	-	-	-	-	-		-	-	-	-		-	-	-				
BE/15202/15	SHUBHAM KUMAR	U	-	-	-	-	-	-	-	-	С	15.0	С	15.0	F	0.0	-	-	120.0	30.0	4.00	
BE/ 15202/ 15	BE/15202/15 SHUBHAM KUMAR	L	-	-	С	15.0	С	15.0	С	15.0	F	0.0	С	15.0	С	15.0	С	15.0	120.0	30.0	4.00	-
BE/15219/15	SURAJ	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	3.0	0.00	
DE/ 132 19/ 15	SURAJ	L	-	-	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	00.0	3.0	0.00	-

: PRINCIPLES OF ELECTRONICS ENGINEERING : INFROMATION THEORY AND CODING EC2001(3) MEC1125(3)

MA2201(4) : ADVANCED ENGINEERING MATHEMATICS EC6205(3) : COMPUTER NETWORKING : SEMICONDUCTOR DEVICES CH2203(3) : ENVIRONMENTAL SCIENCE

EC3205(3)

EC4205(3) : MICROPROCESSOR AND MICROCONTROLLER EC3203(3) : MODERN INSTRUMENTS AND MEASUREMENTS

CH1401(3)

EC5203(3) : MICROWAVE ENGINEERING EC4201(3) : VLSI DESIGN

EC6203(3) : FIBER OPTICS COMMUNICATION SYSTEM BT3021(3) : BIOLOGICAL SCIENCE EE6201(3) : CONTROL THEORY EC4207(3) : ELECTROMAGNETIC THEORY : `MOBILE AND CELLULAR COMMUNICATION

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Disclaimer

: ENGINEERING CHEMISTRY

Controller of Examinations

Grade card will be issued by the institute in due time.

EC7201(3)

## BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

**EXAMINATION DEPARTMENT** 

Date: SEPT-2019

Controller of Examinations

Reference: EXAM / JPP / BITIC / PATNA / BE-EC-NONCOLLEGIATE / (NC/19) 2019-2020

By the order of Examination committee, the following is the result of BE-EC - NONCOLLEGIATE Semester held in the month of AUG-2019

SESSION	: 2019-2020 CLASS : BE-E	2		BRANC	H :	ENGINE	ERING				S	EMESTE	R/TRIN	MESTER	: NO	NCOLL	EGIATE		MC	ONTH OF EXA	M : A	JG-2019
ROLL NO	NAME		MA1201(4) MEC1125(3)		EC2001(3) EE2201(4)		CS2301(4) EC5205(3)		EC3203(3) EC6205(3)		EC4207(3) CH1401(3)		EC6203(3) MEC1047(3)		EC7201(3) PH1201(4)		EC7203(3) EC6201(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/15268/15	VIVEK KUMAR	U	F	0.0	С	15.0	С	20.0	С	15.0	С	15.0	F	0.0	С	15.0	С	15.0	110.0	29.0	3.79	-
DE/ 13200/ 13		L	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	-					
BE/15289/15	PRATEEK KUMAR	U	-	-	F	0.0	-	-	-	-	С	15.0	-	-	С	15.0	-	_	130.0	29.0	4.48	-
BE/13209/13	PRATEER KOWAR	L	-	-	С	20.0	-	-	С	15.0	С	15.0	С	15.0	С	20.0	С	15.0	130.0			
BE/15298/15	SHUBHAM KUMAR	U	-	-	-	-	-	-	-	-	С	15.0	С	15.0	-	-	-	- 1	95.0	19.0	5.00	-
BE/ 13290/ 13	GIODI IAW KOWAK	L	-	-	С	20.0	С	15.0	С	15.0	С	15.0	-	-	-	-	-	-	95.0	19.0	5.00	

MA1201(4) : ENGINEERING MATHEMATICS MEC1125(3) : INFROMATION THEORY AND CODING EC2001(3) : PRINCIPLES OF ELECTRONICS ENGINEERING EE2201(4) : PRINCIPLES OF ELECTRICAL ENGINEERING

CS2301(4) : FUNDAMENTALS OF DATA STRUCTURE EC5205(3) : DATA COMMUNICATION EC3203(3) : MODERN INSTRUMENTS AND MEASUREMENTS EC6205(3) : COMPUTER NETWORKING EC4207(3) : ELECTROMAGNETIC THEORY CH1401(3) : ENGINEERING CHEMISTRY EC6203(3) : FIBER OPTICS COMMUNICATION SYSTEM MEC1047(3) : SENSORS AND TRANSDUCERS

EC7201(3) : `MOBILE AND CELLULAR COMMUNICATION PH1201(4) : PHYSICS EC7203(3) : ANTENNAS AND PROPAGATION FOR WIRELESS COMM. EC6201(3) : INTELLIGENT INSTRUMENTATION

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original

Grade card will be issued by the institute in due time.

## BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Date: SEPT-2019

Reference: EXAM / JPP / BITIC / PATNA / BE-EC-NONCOLLEGIATE / (NC/19)/ 2019-2020

Disclaimer

By the order of Examination committee, the following is the result of BE-EC - NONCOLLEGIATE Semester held in the month of AUG-2019

SESSION	: 2019-2020 CLASS : BE-EC	;		BRAN	CH :	ENGIN	ERING				SE	MESTER	R/TRIM	1ESTER	: N	ONCOLL	EGIAT	E	M	ONTH OF EXA	M : A	UG-2019
ROLL NO	NAME	U		201(4) 101(3)	EC3201(4) CH2203(3)		EE4207(4) EC5203(3)		EC4203(4) EE6201(3)		EC4201(3) MEC1047(3)		EC5201(3) EE3205(4)		EC6201(3) CS2301(4)		EC6205(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	][			
BE/15224/15	AAD ICTEVA OUE ZA FEA D	U	-	-	-	-	С	20.0	-	-	F	0.0	-	-	-	-	-	_	100.0	30.0	3.33	-
BE/ 15224/ 15	MD. ISTEYAQUE ZAFFAR	L	С	15.0	С	15.0	С	15.0	F	0.0	С	15.0	F	0.0	С	20.0	-	-	100.0			
BE/15267/15	ABHISHEK KISHOR	U	С	20.0	С	20.0	С	20.0	С	20.0	С	15.0	С	15.0	С	15.0	С	15.0	140.0	28.0	5.00	
BE/ 1526// 15	ABHISHEK KISHUK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	] 140.0			

EE2201(4)	: PRINCIPLES OF ELECTRICAL ENGINEERING	CH1401(3)	: ENGINEERING CHEMISTRY
EC3201(4)	: DIGITAL ELECTRONICS	CH2203(3)	: ENVIRONMENTAL SCIENCE
EE4207(4)	: DIGITAL SIGNAL PROCESSING	EC5203(3)	: MICROWAVE ENGINEERING
EC4203(4)	: ANALOG COMMUNICATION SYSTEM	EE6201(3)	: CONTROL THEORY
EC4201(3)	: VLSI DESIGN	MEC1047(3)	: SENSORS AND TRANSDUCERS
EC5201(3)	: DIGITAL COMMUNICATION SYSTEM	EE3205(4)	: NETWORK THEORY
EC6201(3)	: INTELLIGENT INSTRUMENTATION	CS2301(4)	: FUNDAMENTALS OF DATA STRUCTURE
EC6205(3)	: COMPUTER NETWORKING	-	:

Controller of Examinations

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.